aining blank pages.
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:1. On completing your answers, compulsorily draw diagonal cross lines on the rem
2. Any revealing of identification, appeal to evaluator and /or equations written cg,

Important Note

50, will be treated as malpractice.
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Semester B.E. Degree Exammatmﬁ €c.2019/Jan.2020
Metal Cutting and Formlng

& N
2 s Mazx. Marks: 100

& I@W

Note: Answer any FIVE full questions, c@g ONE full questwn*fm}ﬂ each module.

a.

b.

j@dule-l
¢ thg different types of cmﬁ"&fibrmed during metal cutting.
) &y (06 Marks) -

Draw Merchant’s circle didggain and state the assug}g%ions made in establishing the
relationship among the v; rlgﬂ forces. e, (08 Marks)
During an orthogo tting process the folfé@,vmg observations were made-chip
thickness = 0.62mm 0.2 mm rake angle 15&, Calculate the chip reduction coefficient
and shear angle. ¢..¥ & (06 Marks)
£ c\%\ 2
Rs® W4
leferentlgte héytween Turret lathe and Cz‘fps‘tan lathe. (06 Marks)

hexag al¥ar stock. Assume the ions. (08 Marks)

Draw thg tool layout for producing & hexagonal headed bolt on a capstan lathe from a
Writéthe functions of followm%%e accessories :

(i) Live centre (ii) Deacihcentre (iii) Stea ‘
(v) Dogs and face plates. A,ﬁ S y ‘»f“*‘? k4 S, (06 Marks)
P "% 7 ar
"*Z;; 9, Mo dulé—Zz
With sketch write the,comparison betwegf i s.milling and do%mllhng (06 Marks)
Sketch and explam radial drilling machige Jrighlighting Itsgi?kntages and disadvantages.
(08 Marks)

What is mde)&ngﬁ Name the dlﬁe@@thods of mdexmg and explain compound indexing.
& 4 _ (06 Marks)

A
A8 &y

s %g‘? } OR Hor!

Differentiate Shaper and B & . (06 Marks)

With sketch explain thé" é‘ rnal centreless gmndmg highlighting the feed mechanism.
(08 Marks)
9’“ ﬁow the shapers ax‘&e%‘asmﬁed'? How a veﬁblcal shaper is different from slotter. (06 Marks)

N . £
Vs 8’ j‘ﬁwo dule-3

Write a notg, B;Efunctlons and tﬁp&% of cutting fluids used in metal cutting. " (06 Marks)
Explain th‘e;yjﬁrlous mechamsn;s responsible for different forms of tool wear. (08 Marks)

o

A cast iron plate of dxmer;sgons 450x150x60 mm, is to be rough shaped along its wider face.

.......

Calculate the rnachmmg qme taking cutting speed = 10 mpm, return speed = 15 mpm,
approach length = 30m1gjover travel length = 30 mm, allowance on either side of the plate

width = 6mm and feeg per cycle = 15mm. (06 Marks)
/‘fk;i‘é‘w'
'}"_“x‘:‘
& ‘
. 1 of2 T ‘ ‘]
;"iff_ﬁ’«’ g f ol L
ol T
Sl
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Which are the different forms of wear on the cuttmg%e of a tool? With appropriate sketch
explain. (06 Marks)
Explain the critical cutting parameters which aﬁéﬁﬁhe tool life. (08 Marks)
The tool life for a HSS toocl is expressed by the “telation VT VT = € and for Tungsten-Carbide
VTY? = C,. If the tool life for cutting sp of 24 mpm is 128 min %pare the life of the

two tools at a speed of 30 mpm. éf”\; £ 3 (06 Marks)
N S5y
éﬁﬂdule 4 ¢
List the differences between cgld waorking and hot workmg_ R (06 Marks)
What is forging? Explain the werking of board hammer with sketch. (08 Marks)
With sketch explain : (i) TWo‘]yg rolling mill (ii) Planegary rolling mill. (06 Marks)
fo ¢ ﬂ’i@ "

1;:\”‘%’ OR ~ %
How the extrusion 1p s is classified? Write a%hote on the difference between direct and
indirect extrusmngz & (06 Marks)
With neat sket@%e}fpfam the wire drawmg.zﬁmcess (08 Marks)
Explain the Qe@;‘%té in extruded productsg_ 4 (06 Marks)

A?J dule-5
With, a'geat sketch explain V-be *and edge bendingéBgrations. (06 Marks)
What d&’you mean by dies? Wi gﬁrxef note on (i) Prof¥essive dies (ii) Combination dies.
4 (08 Marks)

With neat sketch explam shparmg of sheet metaja% y f@i&/ (06 Marks)

.w ? g} 3 %

% OR“ e, &
What is stripper? With neat sketch explaifiitked plate strippefii, . (06 Marks)
With a neat lab etch explain the part bf open back ngilzﬂnble press. (08 Marks)
Calculate the $&n mg force for the gﬁ%fb?nd part from th I sheet with air bending. The
bend length 1‘&?}‘}) cm, the mater ckness is 2.5 mfh and beam length is 25mm. The
tensile st engih ofthe mater1a1g&§2 /em®. Die opé%mg factor = 1.33. (06 Marks)

j’“‘ N 4 -.%" 2; ) : %‘ézs}
L &
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